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INTERMEDIATE EXAMINATION – 2019 (ANNUAL) 

I.Com. 

Model Set 

Accountancy

               le;%& 3 ?kaVs 15 feuV 

            Time:- 3 hours 15 minute 
dqy iz’uksa dh la[;k% 95 
      

 

Instructions for the candidates :- 

1- ijh{kkFkhZ ;FkklaHko vius 'kCnksa esa gh mÙkj nsaA 

Candidates are required to give answers in their own words as far 

as practicable. 

2- nkfguh vksj gkf’k;s ij fn;s gq, vad iw.kkZad fufnZ"V djrs gSaA 

Figures in the right hand margin indicate full marks. 

3- bl iz’u i= dks /;kuiwoZd i<+us rFkk funsZ’kksa ds vuqikyu ds fy, 15 feuV dk 

vfrfjDr le; fn;k x;k gSA 

15 minutes of extra time has been allotted for the candidate to 

read the questions and follow the instructions carefully. 

4- ;g iz’u&i= nks [k.Mksa esa gS]  ,oa  

This question paper has two section: Section-A and Section-B. 

5- [k.M&v esa 60 oLrqfu"B iz’u gSaA izR;sd ds fy, 1 vad fu/kkZfjr gS] ftuesa ls 

fdlh 50 iz’uksa dk mÙkj nsuk vfuok;Z gSA budk mÙkj miyC/k djk;s x;s 

OMR&’khV esa fn;s x;s lgh òÙk dks dkys@uhys ckWy isu ls HkjsaA fdlh Hkh 

Sl. Code :- 220 
fo"k; dksM & 220 

iw.kkZad & 100 
Full Marks -100 
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izdkj ds OgkbVuj@rjy inkFkZ@CysM@uk[kwu vkfn dk OMR ’khV esa iz;ksx 

djuk euk gS] vU;Fkk ijh{kk ifj.kke vekU; gksxkA ;fn dksbZ ijh{kkFkhZ 50 iz’uksa 

ls vf/kd mÙkj nsrs gS rks izFke 50 iz’uksa ds mÙkj dh gh tk¡p gksxhA 

In Section-A, there are 60 objective type questions, each carrying 

1 mark, out of which any 50 questions are to be answered. Darken 

the circle with black/blue ball pen against the correct option on 

OMR Sheet provided to you. Do not use 

Whitener/Liquid/Blade/Nail on OMR Sheet, otherwise the result will 

be treated as invalid. If any candidate answer more than 50 

questions, then first 50 answers will be evaluated. 

6- [k.M&c esa 27 xSj&oLrqfu"B y?kqmÙkjh; iz’u gSa] ftuesa ls fdUgha 15 iz’uksa dk 

mÙkj nsuk vfuok;Z gSA izR;sd iz’u ds fy, 2 vad fu/kkZfjr gSA blds vfrfjDr 

08 nh?kZ mÙkjh; iz’u gSa] ftuesa ls fdUgha 04 iz’uksa dk mÙkj nsuk vfuok;Z gSA 

izR;sd iz’u ds fy, 05 vad fu/kkZfjr gSaA 

In Section-B, there are 27 Non-objective short answer type 

questions, out of which any 15 questions are to be answered. 

Each question carries 2 marks. Apart from this, there are 08 Long 

answer type questions, out-of which any 04 questions are to be 

answered. Each question carries 5 marks. 

7- fdlh izdkj ds bysDVªkWfud midj.k dk bLrseky iw.kZr;k oftZr gSA 

Use of any electronic appliances is strictly prohibited. 
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Section- A 

iz'u la[;k 1 ls 60 rd ds izR;sd iz’u ds lkFk pkj fodYi fn, x,] ftuesa ls ,d 

lgh gSA vius }kjk pqus x, iz’uksa ds lgh fodYi dks OMR&’khV ij fpfUgr djsaA 

izR;sd iz’uksa ds fy, 1 vad fu/kkZfjr gSA fdUgha 50 iz’uksa ds mÙkj nsaA   50 x 1=50 

Question No.- 1 to 60 have four options, out of which only one is 

correct. You have to mark, your selected option, on the OMR-Sheet. Each 

question carries 1 (one) mark. Answer any 50 questions.  50 x 1=50 

1- vk;&O;; [kkrk gksrk gS & 

A- O;fDrxr [kkrk   B- okLrfod [kkrk 

C- ukeek¥ [kkrk   D- buesa ls dksbZ ugha 

Income and Expenditure Account is - 

A. Personal Account  B. Real Account 

C. Nominal Account  D. None of these 

2- olh;r dks ekuuk pkfg, & 

A- nkf;Ro    B- vk;xr izkfIr  

C- vk;     D- buesa ls dksbZ ugha 

Legacy should be treated as - 

A. Liability    B. Revenue receipt  

C. Income    D. None of these 
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3- xSj O;kikfjd laLFkkvksa esa ns;rkvksa ij ifjlEifr;ksa ds vkf/kD; dks dgrs gSa & 

A. iw¡th fuf/k     B- iw¡th 

C. ykHk      D. 'kq) ykHk  

The excess of assets over liabilities in non-trading concerns is 

termed as - 

A. Capital fund    B. Capital 

C. Profit     D. Net-profit 

4- ,d xSj O;kikfjd laLFkk ds fy; ekuns; dk Hkqxrku gS & 

A- vk;      B- ifjlEifr  

C- O;;      D- buesa ls dksbZ ugha 

For a non-trading concern, honorarium paid is - 

A. An Income     B. An asset 

C. An expense    D. None of these 

5- ;fn Li"Vr;k dqN u fn;k gks] rks izos’k 'kqYd dks ekuk tkrk gS & 

A- iw¡thxr izkfIr    B- vk;xr vk;  

C- ns;rk     D- buesa ls dksbZ ugha 

Entrance fees, unless otherwise stated, is treated as - 

A. Capital Receipt    B. Revenue income 

C. Liability     D. None of these 
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6- fuEu esa ls dkSu&lk ykHk dk fofu;kstu gS \ 

A- _.k ij C;kt    B- iw¡th ij C;kt  

C- osru      D- fdjk;k 

Which of the following is an appropriation of profit ? 

A. Interest on loan    B. Interest on capital 

C. Salary     D. Rent 

7- tc vkgj.k dk le; u fn;k gks rks vkgj.k ij C;kt yxk;k tkrk gSA 

A- 6-5 eghus ds fy;s    B- 6 eghus ds fy;s  

C- 5-5 eghus ds fy;s    D- 12 eghus ds fy;s 

When time of withdrawals are not mentioned, interest on drawing 

is charged :- 

A. For 6.5 months    B. For 6 months 

C. For 5.5 months    D. for 12 months 

8- lk>snkjksa dh iw¡th LFkk;h gksus ij dkSu ls [kkrs [kksys tkrs gSa & 

A. dsoy iw¡th [kkrs    B. dsoy pkyw [kkrs 

C. nkf;Ro [kkrs     D- iw¡th vkSj pkyw [kkrs 

Which accounts are opened when the capitals are fixed :-  

A. Only capital account  B. Only current account 

C. Liability account  D. Capital and current account 
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9- lk>snkjh lays[k ds vHkko esa] lk>snkj ikus dk gdnkj ugha gS & 

A- csru     B- deh’ku  

C- iw¡th ij C;kt   D- mi;qZDr lHkh 

In the absence of partnership deed, partners are not entitled to 

receive - 

A. Salaries    B. commission 

C. Interest on capital  D. All of the above 

10- lk>snkjksa dh iw¡th ij C;kt gS & 

A- C;;     B. fofu;kstu 

C. ykHk     D. buesa ls dksbZ ugha 

Interest on partner’s capital is - 

A. Expenditure   B. Appropriation 

C. gain     D. None of these 

11- lk>snkjksa ds vkgj.k ij C;kt gS & 

A- O;olk; ds fy; gkfu   B- O;olk; ds fy; ykHk 

C- lk>snkjksa dks ykHk    D- cSad dks gkfu 

Interest on drawing of the partner is a - 

A. Loss to business   B. Profit to business 

C. Profit to partners   D. Loss to Bank 
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12- lk>snkj dk QeZ ls laca/k gksrk gS & 

A- Lokeh dk    B. ,ts.V dk 

C. Lokeh ,oa ,ts.V nksuksa dk  D. izca/kd dk 

The relation of partner with the firm is that of - 

A. An owner    B. An agent 

C. Both an owner & agent D. Manager 

13- lk>snkjksa dk nkf;Ro gksrk gS  

A- lhfer    B. vlhfer 

C. lk>snkjh vf/kfu;e }kjk fu/kkZfjr D. buesa ls dksbZ ugha 

Liabilities of partners is – 

A. Limited      B. Unlimited 

C. Determined by the partnership Act D. None of these 

14- lk>snkjh QeZ ds iquxZBu ij vfyf[kr ysunkjh dk ys[kk djus ij gksxk & 

A- orZeku lk>snkj dks ykHk    B- orZeku lk>snkj dks gkfu 

C- orZeku lk>snkj dks u ykHk u gkfu D- bues ls dksbZ ugha 

On reconstitution of a partnership firm, recording of an unrecorded 

liability will result in - 

A. Gain to the existing partners  

B. Loss to the existing partners 

C. Neither gain nor loss to the existing partners 
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  D. None of these 

15-  iquewZY;kadu [kkrs dk 'ks"k iqjkus lk>snkjksa ds iw¡th [kkrs esa gLrkarfjr fd;k tkrk 

gS & 

A- iqjkus ykHk&gkfu vuqikr esa B- u;s ykHk&gkfu vuqikr esa 

C- leku vuqikr esa   D- buesa ls dksbZ ugha 

The balance of Revaluation Account is transferred to old partners 

capital Accounts in their - 

A. Old profit sharing ratio B. New profit sharing ratio 

C. Equal Ratio   D. None of these 

16- iw¡th ij C;kt dks lkekU;r% ekuuk pkfg,A 

A- ykHk dk fofu;kstu   B- laifÙk  

C- ,d C;;    D- buesa ls dksbZ ugha 

Generally, the interest on capital is considered as : - 

A. Appropriation of profit   B. Asset 

C. Expense     D. None of these 

17- ,d lEifr tks dkYifud ugha gS ijUrq vewrZ izdf̀r dh gS vkSj mldk olwyh 

ewY; gksrk gS &  

A- e’khu    B- Hkou 

C- QuhZpj    D- [;kfr 
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An asset which is not fictitious but intangible in nature, having 

realizable value is - 

A. Machine    B. Building 

C. Furniture    D. Goodwill 

18- O;olk; dh izflf) ds ekSfnzd ewY; dks dgrs gS & 

A- [;kfr    B- vf/k&ykHk 

C- vf/k’ks"k    D- vlkekU; ykHk 

The monetary value of reputation of the business is called - 

A. Goodwill    B. Super-profit 

C. Surplus    D. Abnormal profit 

19- u;s lk>snkj }kjk [;kfr dh jkf’k uxn ykus ij iqjkus lk>snkjksa }kjk ckaVh 

tkrh gSA 

A- R;kx vuqikr esa   B- iqjkus vuqikr esa 

C- u;s vuqikr esa   D- cjkcj vuqikr esa 

Share of Goodwill brought by new partner in cash is shared by old 

partner in - 

A. Sacrificing Ratio  B. Old Ratio 

C. New Ratio   D. Equally 

20- iqueZwY;kadu [kkrk esa uke i{k ij tek i{k dk vkf/kD; gS & 
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A- ykHk     B- gkfu 

C- izkfIr     D- C;; 

Excess of the credit side over the debit side of Revaluation A/C is - 

A. Profit    B. Loss 

C. Gain    D. Expense 

21- u;s lk>snkjh Bgjko ds ckn rS;kj fd;s x;s fpV~Bs esa laifr;ksa rFkk nkf;Roksa dk 

ys[kk fd;k tkrk gs & 

A- izkjafHkd ewY; ij   B. iquewZY;kafdr ewY; ij 

C. olwyh ;ksX; ewY; ij  D- buesa ls dksbZ ugha 

Balance sheet prepared after new partnership agreement assets & 

liabilities are recorded at -  

A. Original Value    B. Revalued figure 

C. At Realisable value   D. None of these 

22- fuEu esa ls dkSu&lh laifr ,d u;s lk>snkj ds izos’k ds le; ij vfuok;Zr% 

ewY;kafdr fd;k tkrk gS \ 

A- jgfr;k     B. LFkk;h laifr;k¡ 

C. fuos’k     D- [;kfr 

Which of the following asset is compulsorily revalued at the time of 

admission of a new partner ? 

A- Stock     B- Fixed Asset 
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C- Investment    D- Goodwill 

23- lk>snkj ds vodk’k xzg.k djus ij] [;kfr dh iqjh jkf’k fdlds iw¡th [kkrs esa 

ØsfMV dh tk ldrh gS & 

A- vodk’k xzg.k djus okys lk>snkj ds 

B- 'ks"k lk>snkjksa ds  

C- lHkh lk>snkjksa ds 

D- buesa ls dksbZ ugha 

On the retirement of a partner, Full amount of goodwill may be 

credited to the capital account of - 

A. Retiring Partners  

B. Remaining Partners 

C. All Partners    

D. None of these 

24- vodk’k xzg.k djus ds le; iquewZY;kadu ds ykHk&gkfu dks ogu fd;k tkrk 

gS& 

A- cps gq,s lk>snkjksa }kjk   B. lHkh lk>snkjksa }kjk 

C. u;s lk>snkjksa }kjk   D- buesa ls dksbZ ugha 

Profit and loss on revaluation at the time of retirement is shared 

by- 

A- Remaining partners  B. All partners 
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C. New partners   D. None of these 

25- e`rd lk>snkj dks ns; jkf’k pqdk;h tkrh gS & 

A- firk dks    B- nksLr dks 

C- iRuh dks     D- dkuwuh mrjkf/kdkjh dk 

The amount due to the deceased partner is paid to - 

A. Father    B. Friend 

C. Wife    D. Legal heirs 

26- tc xSj&vfHkysf[kr ifjlEifr lk>snkj }kjk yh tkrh gS rks mls n’kkZ;saxs & 

A- olwyh [kkrs ds uke i{k  B- cSad [kkrs ds uke i{k esa  

C- olwyh [kkrs ds tek i{k esa D- cSad [kkrs ds tek i{k esa 

Unrecorded assets when taken over by a partner are shown in - 

A. Debit side of Realisation A/c B. Debit side of Bank A/C 

C. Credit side of Realisation A/c D. Credit side of Bank A/c 

27- lEifr;ksa ds foØ; ls olwy gqbZ jde 

A- olwyh [kkrs ds MsfcV i{k esa  B- olwyh [kkrs ds ØsfMV i{k esa 

C- fpV~Bs ds nkf;Ro i{k esa   D- fpV~Bs ds laifr i{k esa 

Amount realized from sale of assets is recorded in - 

A. Debit side of Realisation A/C  

B. Credit side of Realisation A/C 
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C. Liability side of Balance sheet 

  D. Assets side of Balance sheet 

28- QeZ ds lekiu ij lcls var esa dkSu&lk [kkrk cukuk pkfg, \ 

A. olwyh [kkrk     B. lk>snkjksa ds iw¡th [kkrs 

C. jksdM+ ;k cSad [kkrk   D. lk>snkj dk _.k [kkrk 

On firm’s dissolution which one of the following account should be 

prepared at the last?      

A. Realisation A/C   B. Partner’s capital A/c 

C. Cash or Bank A/C           D. Partner’s loan A/c    

29- QeZ ds lekiu dh n’kk esa olwyh [kkrs dks MsfcV fd;k tkrk gS & 

A- csph tkus okyh lHkh laifr;ksa ls  

B- QeZ ds lHkh ckâ nkf;Ro ls 

C- laifr ds fcØ; ls izkIr jkf’k ls 

D- fdlh lk>snkj }kjk yh xbZ fdlh laifr ls 

On dissolution of a firm, realization account is debited with - 

A. All assets to be realized 

  B. All outside liabilities of the firm 

C. Cash received on sale of assets 
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D. Any assets taken over by one of the partners. 

30- QeZ ds lekiu ds le; d`f=e laifr;ksa dks gLrkarfjr fd;k tkrk gS 

A- lk>snkjksa ds iw¡th [kkrs esa   B- olwyh [kkrs esa 

C- jksdM+ [kkrs esa    D- lk>snkjksa ds _.k [kkrs esa 

At the time of dissolution of firm, fictitious assets are transferred to  

A. Capital accounts of partners B. Realisation account 

C. Cash account    D. Partners loan A/c 

31- ,d QeZ ds lekiu ds le; ,d lk>snkj us :0 1500 lekiu C;;ksa dk 

Hkqxrku dj fn;kA dkSu&lk [kkrk MsfcV gksxk \ 

A- jksdM+ [kkrk     B- olwyh [kkrk 

C- lk>snkj dk iw¡th [kkrk   D- ykHk&gkfu [kkrk 

On dissolution of a firm, a partner paid Rs. 1500 for firm’s 

realization expenses. Which account will be debited - 

A. Cash Account     B. Realisation Account 

C. Capital account of partner  D. Profit and Loss A/C 

32- fuEu esa ls fdls olwyh [kkrs esa gLrkarfjr fd;k tkrk gS & 

A- jksdM+ [kkrs ds 'ks"k dks   B- ykHk&gkfu ds 'ks"k dks 

C- ysunkjksa dks     D- lap;ksa dksA 

Which of the following is transferred to Realisation account -  

A. Balance of cash account  B. Balance of P/L account 
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C. Creditors     D. Reserves 

33- QeZ ds lekiu ij olwyh [kkrs dh gkfu dks fdl [kkrs esa MsfcV fd;k tkrk gS\ 

A- jksdM+ [kkrk     B- lk>snkjksa ds iw¡th [kkrsA 

C- olwyh [kkrk     D- buesa ls dksbZ ugha 

On dissolution of firm, loss on realization account is debited to 

which account ? 

A. Cash Account    B. Partner’s capital account 

C. Realisation account   D. None of these 

34- lerk va’k/kkjh dEiuh ds gksrs gSa & 

A- ysunkj     B- Lokeh 

C- xzkgd     D- buesa ls dksbZ ugha 

Equity shareholders of the company are : 

A. Creditors     B. Owners  

C. Customers    D. None of these 

35- tCr fd;s x;s va’kksa ds iqu% fuxZeu ds i'pkr va’k gj.k [kkrs ds 'ks"k dks 

gLrkarfjr dj fn;k tkrk gS & 

A- ykHk&gkfu [kkrs esa    B- iw¡th lap; [kkrs eas 

C- lkekU; lap; [kkrs esa   D- buesa ls dksbZ ugha 

Balance of Forfeited shares account after re-issue of forfeited 

shares is transferred to - 
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A. Profit & loss A/C   B. Capital Reserve A/C  

C. General Reserve A/C   D. None of these 

36- va’kksa ds fuxZeu ij vf/kewY; dks vkfFkZd fpV~Bs ds fdl i{k es fn[kk;k tkrk 

gS\ 

A- lEifr     B- nkf;Ro 

C. nksuksa      D- buesa ls dksbZ ugha 

Premium on issue of shares is shown on which side of the Balance 

sheet ? 

A. Assets     B. Liabilities 

C. Both     D. None of these 

37- Vscy ^F* ds vuqlkj vfxze ;kpuk ij C;kt dh vf/kdre nj gS & 

A- 8 izfr’kr izfro"kZ    B- 12 izfr’kr izfro"kZ  

C- 5 izfr’kr izfro"kZ    D- buesa ls dksbZ ugha 

As per Table ‘F’ the maximum rate of interest on “calls in advance” 

is - 

A. 8% p.a.     B. 12 % p.a. 

C. 5 % p.a.     D. None of these 

38- buesa ls daiuh dh iathdr̀ iw¡th dkSu&lh gS \ 

A- iznÙk iw¡th     B- v;kfpr iw¡th  

C- vf/kd`r iw¡th    D- fuxZfer iw¡th 
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Which one of the following is the registered capital of the 

company? 

A- Paid-up capital    B- Uncalled up capital  

C- Authorised    D- Issued Capital 

39- va’kksa ds fuxZeu ds iwoZ dkSu&lk izys[k fuxZr fd;k tkrk gS & 

A- izfooj.k i¥     B- ik"kZn vUrfuZ;e  

C- ik"kZn lhek fu;e    D- ;s lHkh 

Which documents are issued before the issue of shares ? 

A. Prospectus    B. Articles of Association 

C. Memorandum of Association D. All of these 

40- ^^izfrHkwfr izhfe;e** [kkrs dks vkfFkZd fpV~Bs esa fdl 'kh"kZd ds varxZr fn[kk;k 

tkrk gS \ 

A- lap; rFkk vkf/kD;    B- fofo/k C;; 

C- pkyw nkf;Ro    D- va’k iw¡th 

“Security Premium A/C” is shown under which head in the 

Balance-sheet? 

A. Reserve and surplus   B. Miscellaneous expenditure 

C. Current liabilities   D. Share capital 

41- daiuh ds nkf;Ro esa tksM+s tkus okyh iw¡th dgykrh gS & 

A- vf/kd`r iw¡th    B- fuxZfer iw¡th 
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C- izkf;Zr iw¡th     D- pqdrk iw¡th 

Capital included in the liability of a company is called - 

A. Authorised capital   B. Issued capital 

C. Subsribed capital    D. Paid-up capital 

42- ;fn va’kksa ds iqufuZxeu ij gkfu] tCr dh xbZ jkf’k ls de gks rks ^vf/k’ks"k* ;k 

ykHk gLrkarjfr fd;k tkrk gS & 

A- iw¡th lap; esa    B- vk;xr lap; esa  

C- ykHk&gkfu [kkrk esa    D- buesa ls dksbZ ugha 

If the loss on re-issue of shares is less than the amount forfeited, 

the surplus or profit is transferred to - 

A. Capital Reserve    B. Revenue Reserve 

C. Profit & Loss A/C   D. None of these 

43- _.ki¥ksa ij C;kt gksrk gS & 

A- 12 izfr’kr okf"kZd    B- fuf’pr nj  

C- 20 izfr’kr okf"kZd    D- 6 izfr’kr okf"kZd 

Debenture carried interest at - 

A. 12 % p.a.     B. Fixed Rate 

C. 20 % p.a.     D. 6 % p.a. 

44- dEiuh ds fy; vf/k&ewY; ij _.ki¥ksa dk fuxZeu gSa %& 
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A- vk;xr izfIr    B- ykHk  

C- iw¡thxr ykHk    D- lEifÙk 

For a company issue of debenture at premium is : 

A. Revenue receipt   B. Profit 

C. Capital gain     D. Asset 

45- ^^_.ki¥ksa ds fuxZeu ij vf/k&ykHk** dks vkfFkZd fpV~Bk esa fn[kk;k tkrk gS & 

A- laifr i{k es    B- nkf;Ro i{k esa  

C- nksuksa i{k esa     D- buesa ls dksbZ ugha 

“Premium on issue of Debenture” is shown in the Balance sheet 

on - 

A. Asset side    B. Liabilities side 

C. Both side      D. None of these 

46- _.ki¥ksa ds 'kks/ku ij izhfe;e gS & 

A- O;fDrxr [kkrk    B- okLrfod [kkrk 

C- ukeek¥ [kkrk    D- mpUrh [kkrk 

Premium on redemption of debenture is a - 

A. Personal A/C    B. Real A/C 

C. Nominal A/C    D. Suspense A/C 

47- fLFkfr fooj.k gS & 

A- [kkrk      B- fooj.k 
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C- A vkSj B nksuksa    D- mijksDr lHkh 

Balance-sheet is a - 

A. Account     B. Statement 

C. A & B both    D. All of the above 

48- ykHk ,oa gkfu fooj.k dks Hkh dgrs gSa & 

A- ifjpkyu ykHk    B- vkfFkZd fpV~Bk 

C- vk; fooj.k     D- O;kikj [kkrk 

Statement of profit and loss is also called - 

A. Operating profit    B. Balance sheet 

C. Income statement   D. Trading Account 

49- isVsUV~l ,oa dkWihjkbV fdl Js.kh ds varxZr vkrs gSa \ 

A- pkyw lEifr;k    B- rjy lEifr;k 

C- vewrZ lEifr;ka    D- buesa ls dksbZ ugha 

Patents and copyrights fall under which category ? 

A. Current Assets    B. Liquid Assets 

C. Intangible Assets   D. None of these 

50- lapkyu vuqikr gS & 

A- ykHknk;drk vuqikr   B- fØ;k’khyrk vuqikr 

C- 'kks/ku {kerk vuqikr   D- buesa ls dksbZ ugha  
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Operating ratio is - 

A. Profitability Ratio   B. Activity Ratio 

C. Solvency Ratio    D. None of these 

51- vkUrfjd ,oa ckg~; LokfeRo ds e/; ,d larks"ktud vuqikr gS & 

A- 1 % 1     B- 2 % 1 

C- 3 % 1     D- 4 % 1 

The satisfactory ratio between internal and external equity is - 

A. 1 : 1      B. 2 : 1 

C. 3 : 1     D. 4 : 1 

52- rjy laifr;ksa esa 'kkfey gksrk gS & 

A- izkIr foi=     B- nsunkj 

C- jksdM+     D- mi;qZDr lHkh 

Liquid Assets include - 

A. Bills receivable    B. Debtors 

C. Cash     D. All of above 

53- fuEu esa ls dkSu&lk xSj lapkyu C;; gS \ 

A- fdjk;k     B- fcØh C;; 

C- etnwjh     D- e’khu foØ; ij gkfu 

Which of the following is non-operating expense ? 

A. Rent     B. Selling expense 
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C. Wage     D. Loss on sale of machine 

54- dkSu&lh fØ;k lapkyu fØ;k ds varxZr vkrh gS \  

A. Hkwfe dk Ø;    B- _.ki¥ksa dk fuxZeu 

C- lerk va’kksa ds fuxZeu ls izkfIr  D- udn fcØh 

Which activity comes under operating activity ? 

A. Purchase of Land    

B. Issue of debenture 

C. Proceeds from issue of equity shares           

D. Cash sales    

55- fuEu esa ls dkSu ,d xSj&jksdM+ en ugha gS \ 

A- nsunkjksa esa deh    B- _.ki¥ksa dk fuxZeu 

C- ysunkjksa esa deh    D- buesa ls dksbZ ugha 

Which of the following is not a non cash item - 

A. Decrease in debtors   B. Issue of debenture 

C.  Decrease in creditors  D. None of these 

56- buesa ls dkSu&lh fØ;k foÙkh; fØ;k ds varxZr vkrh gS & 

A- lerk va’kksa dk fuxZeu   B- udn fcØh 

C- cSad vf/kfod"kZ    D- _.ki¥ksa dk Ø; 

Which of the following activity comes under Financial activities - 
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A. Issue of equity shares  B. Cash sales 

C. Bank overdraft    D. Purchase of debentures  

57- udn fcØh gS 

A- ifjpkyu fØ;k    B- fofu;kstu fØ;k 

C- foÙkh; fØ;k    D- buesa ls dksbZ ugha 

Cash sales is - 

A. Operating Activity   B. Investing activity 

C. Financing activity   D. None of these 

58- fuEu esa ls dkSu&lk jksdM+ vUrckZg ugha gS \ 

A- LFkk;h laifr dh fcØh   B- LFkk;h laifr dk Ø; 

C- _.ki¥ksa dk fuxZeu   D- eky dk udn foØ; 

Which of the following is not a cash inflow ? 

A. Sale of Fixed asset   B. Purchase of fixed asset 

C. Issue of debenture   D. Sale of goods for cash 

59- LFkk;h laifr;ksa esa 'kkfey gksrk gS & 

A- jksdM+      B- e’khujh 

C- nsunkj     D- iwoZnÙk C;; 

Fixed Assets include - 

A. Cash     B. Machinery 
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C. Debtors     D. Prepaid expense 

60- ysunkj vkorZ vuqikr esa D;k 'kkfey fd;k tkrk gS & 

A- dqy m/kkj Ø;    B- dqy m/kkj fcØh 

C- dqy uxn fcØh    D- dqy uxn Ø; 

What does creditor Turnover ratio take into account 

A. Total credit purchase   B. Total credit sales  

C. Total cash sales   D. Total cash purchase 

 Section-B

Non-Objective Type Questions 

Short Answer Type Questions

iz’u la[;k 1 ls 27 rd y?kq mÙkjh; iz’u gSaA buesa ls fdUgha 15 iz’uksa ds mÙkj nsaA izR;sd 

iz’u ds fy, 2 vad fu/kkZfjr gSaA       (15x2=30) 

Question no. 1 to 27 are Short answer type questions. Answer any 15 

question. Each question carries 2 marks.    (15x2=30) 

1- olwyh [kkrs dh nks mís’; crk;saA 

State two objectives of Realisation Account. 

2- jksdM+ izokg fooj.k dh nks fo’ks"krk;sa crk;saA 

Give two Feautures of cash flow statement 

3- vuqikr fo’ys"k.k D;k gS \ 
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What is Ratio-analysis ? 

4- izkfIr ,oa Hkqxrku [kkrs dh nks fo’ks"krk;sa fyf[k,A 

Give two features of Receipt & payment A/C.  

5- daiuh ds nks nks"k crkb;sA 

Mention two demerits of a company. 

6- QeZ ds lekiu ds dkj.kksa dk o.kZu djsaaA 

Explain the causes of dissolution of firm. 

7- [;kfr ds ewY;kadu dh nks fof/k;k¡ crk;saA 

State two methods of valuation of Goodwill 

8- Lkk>snkjh dh nks xq.k crk;saA 

State two merits of partnership. 

9- Lkerk va’k ,oa iwokZf/kdkj va’k esa varj crk;saA 

Distinguish between equity share & preference share. 

10- vykedkjh laLFkk ds mís’; dks crk;saA 

State the objective of not-for-profit organization. 

11- 'kks/kuh; _.k&i¥ ls vki D;k le>rs gSa \ 

What do you mean by redeemable debentures? 

12- _.k&i¥ D;k gS \ 

What is debenture ? 

13- iw¡th lap; dk o.kZu djsaA 

Explain capital Reserve. 

14- fofu;ksx fØ;k ls jksdM+ izokg D;k gS \ 
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What is cash Flow from investing activities ? 

15- iquewZY;kadu [kkrk dh nks fo’ks"krk;sa crk;saA 

State two features of Revaluation account. 

16- foÙkh; fooj.kksa ds fo’ys"k.k ls vki D;k le>rs gSa \ 

What do you mean by analysis of financial statement?  

17- leku vkdkj okys fooj.kksa ds D;k mís’; gS \ 

What are the objectives of common-size statement. 

18- nsunkj vkorZ vuqikr dh lksnkgj.k o.kZu djsaA 

Explain debtors turnover ratio with examples. 

19- _.k&lerk vuqikr dk mís’; crkb;sA 

State the objective of Debt-Equity ratio. 

20- _.ki¥ksa ds ^^ykHk esa ls 'kks/ku** dk vFkZ crkb;sA 

State the meaning of “Redemption of debentures” out of profits. 

21- QeZ dk _.k vkSj lk>snkjksa ds _.k esa varj crkbZ;sA 

Distinguish between firm’s Debt and partners debts. 

22- xqIr [;kfr D;k gS \ 

What is Hidden Goodwill ? 

23- va’k ,oa LVkWd esa varj crkb;sA 

Distinguish between share and stock. 

24- [;kfr ds lanHkZ esa ys[kkadu ekud&26 dk vuqiz;ksx crkosaA 

State the application of Accounting Standard-26 with reference to 

goodwill. 
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25- dks"k vk/kkfjr ys[kkadu dh nks fo’ks"krkvksa dks crkb;sA 

State two features of Fund-based Accounting.  

26- P, Q rFkk R lk>snkj gS tks ykHkksa dks 3 % 2 % 1 ds vuqikr esa foHkkftr djrs 

gSaA mUgksaus S dks 1@6 Hkkx ds fy;s 'kkfey fd;kA ;g r; gksrk gS fd R 

viuk fgLlk dk;e j[ksxkA u;k vuqikr rFkk R;kx vuqikr Kkr dhft,A 

P, Q and R partners sharing profit in the ratio of 3:2:1. They admit 

S for 1/6th share. It is agreed that R would retain his original share. 

Calculate the new ratio and sacrificing ratio. 

27- vk;&C;; [kkrs dh nks fo’ks"krk;sa crk;saA 

State two features of Income and Expenditure Account. 

Long Answer Type Questions

iz’u la[;k 28 ls 35 rd nh?kZ mÙkjh; dksfV ds iz’u gSaA buesa ls fdUgha 4 iz’uksa ds mÙkj 

nsaA izR;sd iz’u ds fy, 5 vad fu/kkZfjr gSaA     (4x5=20) 

Question no. 28 to 35 are Long answer type questions. Answer any 4 

questions. Each question carries 5 marks.    (4x5=20) 

28- ,d QeZ ds fc?kVu ij fuEufyf[kr ysu&nsuksa ds fy;s D;k tuZy&izfof"V;k¡ dh 

tk;sxh tcfd fofHkUu laifr;ksa ¼jksdM+ dks NksM+dj½ ,oa rhljs i{k dh ns;rkvksa 

dks olwyh [kkrk esa gLrkarfjr fd;k tk pqdk gS & 

i. lk>snkj A us 50 izfr’kr jgfr;s dks 25 izfr’kr dh dVkSrh ij fy;k ¼iqLrd 

ewY; #0 20000½ 

ii. 'ks"k jgfr;s dks 10 izfr’kr dh gkfu ij cspk x;kA 
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iii. QeZ ds ,d deZpkjh dks {kfriwfrZ ds fy;s #0 40000 pqdk;k x;kA 

iv. #0 5000 dh vfyf[kr laifr dks B us 4000 #0 ij fy;kA 

v. Lkk>snkj A us Jhefr ^A& ds #0 5000 ds _.k dks Hkqxrku gsrw fy;kA 

What journal entries would be passed for the following 

transactions on the dissolution of a firm, after various assets (other 

than cash) and third parties liabilities have been transferred to 

Realisation Account. 

i.  A, a  partner took over 50% of the stock at a discount of 25% 

(Book value of stock Rs. 20000) 

ii.  Balance of stock was sold at a loss of 10% 

iii. Compensation to an employee paid by the firm amounted to Rs. 

40000. 

iv. There was an unrecorded assets of Rs. 5000 which was taken 

over by B, a partner of Rs. 4000. 

v. A, a partner, under took to pay Mrs. A loan of Rs. 5000. 

29- jksdM+&izokg fooj.k ds egRo dks Li"V dhft,A 

Explain the importance of cash flow statement. 

30- fuEu lwpuk ls 31 fnlEcj 2018 dks lekIr o"kZ ds fy; vk; rFkk C;; [kkrs esa 

izHkkfjr fd;s tkus okys osru dh jkf’k dh x.kuk dhft, & 

i. o"kZ ds nkSjku fn;k x;k osru     #0 30000 

ii. 31 fnlEcj] 2017 dks vnr osru     #0 1000 

iii. 31 fnlEcj] 2018 dks vnr osru     #0 1500 
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iv. 31 fnlEcj] 2018 dks iwoZnr osru     #0 2000 

From the following information, calculate the amount of salaries 

chargeable to Income and Expenditure account for the year ended 

31 December, 2018 – 

i.  Salaries paid during year     Rs. 30000 

ii. Outstanding salaries on 31 December, 2017  Rs. 1000 

iii. Outstanding salaries on 31 December, 2018  Rs. 1500 

iv. Salary paid in advance on 31 December, 2018  Rs. 2000  

31- ykHk u dekus okyh laLFkk ls D;k vk’k; gS\ ykHk u dekus okyh laLFkk ls 

lacaf/kr pkj enksa dks fyf[k,A 

What is meant by not-for-profit organisation? Write four items 

relating to not for profit organisation. 

32- Lkk>snkj ds vodk’k xzg.k djus ij [;kfr ds ys[kkadu O;ogkj dks le>kb,A 

Explain Accounting Treatment of Goodwill on retirement of a 

partner. 

33- Hkkjr fy0 us fcgkj dkjiksjs’ku ls :0 418000 dh lEifr;k¡ Ø; dh vkSj Ø; 

izfrQy ds Hkqxrku Lo:Ik #0 100 okys iw.kZnÙk lerk va’k fuxZfer fd,A Hkkjr 

fyfeVsM dh iqLrdksa esa ;g ekurs gq, jkstukepk izfof"V;k¡ fn[kkb, fd va’kksa dk 

fuxZeu (i) le ewY; ij (ii) 10 izfr’kr dVkSrh ij rFkk (iii) 10 izfr’kr izhfe;e 

ij fd;k x;k FkkA 

Bharat Ltd. Purchased assets from Bihar corporation worth Rs. 

418000 and issued equity share of Rs. 100 each fully paid as 
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purchase consideration. Pass necessary journal entries in the 

books of Bharat Ltd as shares are issued (i) at par (ii) at discount 

of 10% (iii) at premium of 10%. 

34- ,d QeZ dk pkyw vuqikr 2-5 % 1 gSA bldk rjy vuqikr 1-5 % 1 gSA ;fn 

pkyw nkf;Ro 60000 gks rks pkyw ifjlEifr;k¡ ,oa LVkWd dh jkf’k dh x.kuk 

dhft,A 

A firm current Ratio is 2.5 : 1. Its liquid Ratio is 1.5 : 1. If current 

liabilities are Rs. 60000. Then, calculate the amount of current 

Assets and stock. 

35- forh; fooj.kksa ls vki D;k le>rs gS\ bldh D;k mi;ksfxrk gS \ 

What do you mean by Financial statement? What are its uses? 


